o
MAST30026 Tutowal 1 (2019) 6(8/19

lonsider fuo obsevver OUO& who ave meaouw‘mg poinh in Thu yame
abs?mc%plcme X fom different sides (imagine o P%\»]n‘caldheefr)
but at- ¥ same point~ O, with their axes rotaled by some ang le

veloHve fo e ansther
Exevtice L3-6  Poove that there is an element [ € 0(2) suchHhat

I o\\agmm
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OOMMMM/ (-e. O\—f-[xecl ovﬂ/\ogbnd YV\O\)'Y;X w[/u‘ch
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convevk 0,'s meonuremenh fo m S meosurements .

De}inih’oﬂ &[vp,m‘h/vo orderved bases ;B = (10_ R 13“)) Cj = (5‘/' "/gh}

for a finie -dimensional vecfor spaw \/, we oy B G
have the same ovientation gnd unke P~ G if

det( [1d]5 ) > O

wheve [ICQ}; - <[EJG,——-, [—E“]E) IJMcManf}edf

bowis matvix.
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What ave some obviows exomples (rﬁ ovdeved beven with different oﬁemh%“ons?

(@) (i) ~ is an equ‘lmlen&ve\odion onthe sef F
of ovdeved bovwes of V.

(ii) Aheve ave precirely two equivalenw clages, 1<
F/~ han two elemenks.

Exercie L3-5 (i) Let F:V—V bhe an inverkible linear ()’Pemjrof on
a %‘wﬁ\f—dimenﬁional ve chor spae Prove Hhat pvedse_ly

one of Hhe fo!low')\/\ﬂ o Posﬁb%lnl-fe/) is realised -
(L) VB ( F(p)~ B > [ﬁ vonges over ¢
ovdered bmw)
(x) VB (FBI+# £ )

wheve F(J?) denoles (’:(b'),_-, F(bn)) \’Fﬁ: (—L—'/--‘/éh).
Tnthe fintcove we Sy F is onentation prepevv)ng and in 1e Jofer

cane we sy F i ovientaion vevewng

(i1) Tove that F s onentahiont presenving #f. del(F) > O,
and oientodion revening . def(F)<O.

with this lamgmmge we can c/am\@ the comment abouk ovientadion in lecturen .
Tovo obsevien in the plane, whore coorclinate Jyskems may diffev bj a rotakon
' hove their measurements

and Pos(/b’nj abel'ng on the other side of the /D/OI/)e,'/
related by =€ 0(2) by Ex.L3-6. They “agrex on clockwis " OF s

onentation prevewing which is . Fe So(2) € Q(2).



